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Sofve each of the following equations.

@

2x- - (x+ 2)= 22417 ®)  @reDE-6)=2x(x-H: 4

Acircle centre O has a radius of 14 cm as shown.
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The vasiables . v and fare comnected by the formula £ = 11 where kis 3 constant

@
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‘Express this relation in words by copying and completing the following variation
statement
" Evaries as and "

Given that

200 when . find the value of the constant of variation k.

‘Hence find E when v=20 and.

Simplfy  Ga+ )’ - (Ga- )

Calculate the tofal volume of a factory
unit which is 90 mefres long and whose
side view dimensions are shown.

opposite

‘Express as a single fraction

x-1 x-2
3

Solve, correct to two decimal places, the equation 2x” - 4x + 1= 0

Make x the subject of the formula

X2
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Sofve the equation (2x+ 1)’ = 3(1- )

A square of side (2x + 2) cm has the same perimeter 222
252 ectangle of breadt (x+ 3) cm nad length .
pe
@ Findthe lngth o he recangle inferms
ofx
) Wit down expanded exprssions, i fexms of ,
. for the mcas of the o shapes.
() Given that the area of the square is 16ca more. x+3
o e of e reciaagle, fornan eqution and
slveit to fndx
‘The diagram opposite represents a crane for lifting A
weight.
AB = 15 metres, AC =21 mefres and CB =9 meres.
@ Calculte th size of agle ABC
) Calcuate th veticalheigh of poiat A
above e ground. -

Giventhat = 4x10° and b= 5x10°, find the value of E whete E= a+ b’
Waite your answer in standard form.

b
The cost £€ of manufacturing an atcle is given by C = 67"+ . where  and b are consant.
‘When g =2, the cost of manufacture is £30 and when g = 4, the cost of manufacture is £50.

(8  Wite down two equations involving a and b and solve them simultaneously to find a and
() Hence calculate the cost of manufacture when g = 10.

A solid cone has a base radius of 1. 74 cm and a vertical height
of 2. 32 cm. Calculate the cone's

9 slant height
#)  total surface area;
) volume.

Give all answers correct to 3 significant figures. [ Surface Area =17+ 175 ; =

Abicycle wheel of diameter 60cm makes 5 revolutions every 2 seconds.
Find the speed of the bicycle fo the nearest km/h.




